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61x9+61x2=>549 4+ 122 = 671 44t

@9+2=11
@61x(9-2)=61x7=427
®61x(9+2)=61x11=6T71

@ (61 x61) + (9+2) =3721 + 11 = 3732
® (61 +9) x (61 +2) = 70 X 63 = 4410
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1500 - (150 x 3 + 370 x 2)
= 1500 — (450 + 740)

= 1500 — 1190

=310(¢)




108 — {30 + (50 — 25) + 5} x 3

@ 10 @ 4 ® 5 @3
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108 — {30 + (50 — 25) = 5} x 3
=108 — {30 + 25 = 5} x 3
=108 - (304 5) x 3
=108 - 35% 3

=108 — 105

=3
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15+5%x20-10

@(15+5)x20—10 @ 15+ (5% 20) - 10
® 15+ 5x (20— 10) @ (15+5x20)-10

® 15+ (5x20 - 10)

B

15+5x20-10 & A& ()& A8 7P 2 32 4o
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w2ba] SAHE 218 (15 + 5) x 20 — 10°] H o},
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(19+17)x 12+ 16
=36x 12+ 16 = 27(Z}3)




o F A ( )& AHgote] shube] Ao g Uil Ao 2 g2
A& o= AYY7?

821-29 =792,  792+12=66
D 821-29+12 =66 @ 821 -(29=+12) =66
@(821—29)+12 = 66 @ (821 -29+12) =66

® (821 +12)—-29 =66
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10 - {2 + (21 - 18) x 2}

10 - {2 + (21 - 18) x 2)

=10—-{2+3x2}
=10-(2+6)
=10-38
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HE St 28 49 el d] 1029 130094 gyt HE 63
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(1 A7t 30 E)=(90) Eo]aL, 10E9] 1300 Yo|E=E 90 H o=
9 x 1300 = 11700 () o]t}

Hj 6212 LFH OB Z 11700 x 6 = 70200 (H)
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